# AN INVERSE PROBLEM FOR A SECOND-ORDER DIFFERENTIAL EQUATION IN A BANACH SPACE 

Y. EIDELMAN

Received 29 February 2004

We consider the problem of determining the unknown term in the right-hand side of a second-order differential equation with unbounded operator generating a cosine operator function from the overspecified boundary data. We obtain necessary and sufficient conditions of the unique solvability of this problem in terms of location of the spectrum of the unbounded operator and properties of its resolvent.

## 1. Introduction

In a Banach space $E$ we consider the differential equation

$$
\begin{equation*}
\frac{d^{2} v}{d t^{2}}=A v+f(t)+p, \quad 0 \leq t \leq t_{1} \tag{1.1}
\end{equation*}
$$

Here $A$ is a linear unbounded operator with the domain $D(A), f(t)$ is a function continuous on the segment $\left[0, t_{1}\right]$ with the values in the space $E$, and $p$ is an unknown parameter belonging to $E$. By the solution of the differential equation (1.1) we mean a function twice continuously differentiable on $\left[0, t_{1}\right]$ with the values from $D(A)$ satisfying (1.1). For (1.1) we put the boundary value conditions

$$
\begin{gather*}
v(0)=v_{0}, \quad v^{\prime}(0)=\dot{v}_{0}  \tag{1.2}\\
v\left(t_{1}\right)=v_{1} . \tag{1.3}
\end{gather*}
$$

The problem is to find a pair $(v(t), p)$ which satisfies the differential equation (1.1) and the boundary value conditions (1.2), (1.3).

The inverse problems of such a type were studied by various authors; the bibliography may be found in [5]. Such a problem for a second-order differential equation was considered in [4] in the case of a differential equation with a selfadjoint operator in a Hilbert space and in [5] in the assumption that the cosine operator function generated by the operator $A$ is small in the norm.

In this paper, we obtain necessary and sufficient conditions for the unique solvability of the problem (1.1)-(1.3) based on the only assumption that the operator $A$ generates a cosine operator function. We extend on the second-order differential equations the results obtained in [2] for equations of the first order. We use here results and method of the paper [1] devoted to the spectral properties of cosine operator functions.

We assume that the operator $A$ is a generator of a cosine operator function $C(t)$. Such operator is closed, its domain $D(A)$ is dense in $E$, and the resolvent set of $A$ is nonempty (see [3]). In the sequel we denote by $R(\lambda ; A)$ the resolvent $(\lambda I-A)^{-1}$ of the operator $A$. We also assume that the other data of the problem satisfy the conditions
(a) $v_{0}, v_{1} \in D(A)$;
(b) $\dot{v} \in E_{0}$, where $E_{0}$ is the subspace of all vectors $u$ such that the function $C(t) u$ is continuously differentiable;
(c) $f(t)=f_{1}(t)+f_{2}(t)$, where $f_{1}(t)$ is a function continuously differentiable in $\left[0, t_{1}\right]$, $f_{2}(t) \in D(A), 0 \leq t \leq t_{1}$, and $A f_{2}(t)$ is continuous in [ $\left.0, t_{1}\right]$.
The problem (1.1)-(1.3) is called well posed if for any data $v_{0}, \dot{v}_{0}, v_{1}, f(t)$ satisfying these conditions, it has a unique solution. One can show (see, e.g., [5]) that the unique solvability of the problem (1.1)-(1.3) implies the estimates for the solution $(v(t), p)$ in the corresponding norm.

The numbers

$$
\begin{equation*}
\mu_{k}=-\frac{4 \pi^{2} k^{2}}{t_{1}^{2}}, \quad k=1,2, \ldots \tag{1.4}
\end{equation*}
$$

are called the characteristic numbers of the problem (1.1)-(1.3).
Theorem 1.1. The problem (1.1)-(1.3) is well posed if and only if every characteristic number $\mu_{k}, k=1,2, \ldots$, is a regular point of the operator $A$ and for any $x \in E$ the series $\sum_{k=1}^{\infty} R\left(\mu_{k}\right.$, A) $x, \sum_{k=1}^{\infty} A R^{2}\left(\mu_{k}, A\right) x$ are Cesáro summable.

Recall that a series $\sum_{n=1}^{\infty} a_{n}, a_{n} \in E$, is said to be Cesáro summable if there exists the limit

$$
\begin{equation*}
(C-1) \sum_{n=1}^{\infty} a_{n}:=\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{n=1}^{N-1} \sum_{k=1}^{n} a_{k} \tag{1.5}
\end{equation*}
$$

and a double series $\sum_{n=-\infty}^{\infty} a_{n}$ is said to be Cesáro summable if there exists the limit

$$
\begin{equation*}
(C-1) \sum_{n=-\infty}^{\infty} a_{n}:=\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{n=0}^{N-1} \sum_{k=-n}^{n} a_{k} . \tag{1.6}
\end{equation*}
$$

Proof. The conditions on the data $v_{0}, \dot{v}_{0}, f(t)$ yield (see [3, pages $\left.35-36\right]$ ) that the Cauchy problem (1.1)-(1.2) has a unique solution given by the formula

$$
\begin{equation*}
v(t)=C(t) v_{0}+S(t) \dot{v}_{0}+\int_{0}^{t} S(t-s) f(s) d s+\int_{0}^{t} S(t-s) p d s, \quad 0 \leq t \leq t_{1} \tag{1.7}
\end{equation*}
$$

where $C(t)$ is the operator cosine function generated by the operator $A$ and $S(t)$ is the associated sine function. Using the boundary condition (1.3) we conclude that the problem
(1.1)-(1.3) is equivalent to the operator equation

$$
\begin{equation*}
B p=w, \tag{1.8}
\end{equation*}
$$

where

$$
\begin{gather*}
B p=\int_{0}^{t_{1}} S\left(t_{1}-s\right) p d s, \quad p \in E,  \tag{1.9}\\
w=v_{1}-C\left(t_{1}\right) v_{0}-S\left(t_{1}\right) \dot{v}_{0}-\int_{0}^{t_{1}} S\left(t_{1}-s\right) f(s) d s \tag{1.10}
\end{gather*}
$$

The problem (1.1)-(1.3) is well posed if and only if (1.8) has a unique solution for any $w \in D(A)$. The latter is valid if and only if the operator $B$ defined in (1.9) has an inverse defined on all $D(A)$.

At first we derive some relations with the operators $B$ and $\mu_{k} I-A$. Set $\rho_{k}=2 \pi k i / t_{1}$, $k=0, \pm 1, \pm 2, \ldots$. We prove that

$$
\begin{equation*}
B x=\left(\mu_{k} I-A\right) \int_{0}^{t_{1}} \int_{0}^{u}(s-u) S(s) x d s \cosh \left(\rho_{k} u\right) d u, \quad x \in E, k=1,2, \ldots \tag{1.11}
\end{equation*}
$$

For $x \in D(A)$ using the equalities $A S(s) x=S^{\prime \prime}(s) x, S^{\prime}(s) x=C(s) x$ and the fact that $A$ is closed we have

$$
\begin{align*}
A \int_{0}^{t_{1}} & \int_{0}^{u}(s-u) S(s) x d s \cosh \left(\rho_{k} u\right) d u \\
& =\int_{0}^{t_{1}} \int_{0}^{u}(s-u) S^{\prime \prime}(s) x d s \cosh \left(\rho_{k} u\right) d u \\
& =\int_{0}^{t_{1}}\left[\left.(s-u) C(s) x\right|_{0} ^{u}-\int_{0}^{u} S^{\prime}(s) x d s\right] \cosh \left(\rho_{k} u\right) d u  \tag{1.12}\\
& =\int_{0}^{t_{1}}[u x-S(u) x] \cosh \left(\rho_{k} u\right) d u
\end{align*}
$$

and hence

$$
\begin{equation*}
A \int_{0}^{t_{1}} \int_{0}^{u}(s-u) S(s) x d s \cosh \left(\rho_{k} u\right) d u=-\int_{0}^{t_{1}} S(u) x \cosh \left(\rho_{k} u\right) d u . \tag{1.13}
\end{equation*}
$$

Since $A$ is closed and $D(A)$ is dense in $E$, the last equality is valid for any $x \in E$. Next we have

$$
\begin{align*}
\mu_{k} \int_{0}^{t_{1}} & \int_{0}^{u}(s-u) S(s) x d s \cosh \left(\rho_{k} u\right) d u \\
& =\int_{0}^{t_{1}} \int_{0}^{u}(s-u) S(s) x d s\left(\cosh \left(\rho_{k} u\right)\right)^{\prime \prime} d u  \tag{1.14}\\
& =\left.\int_{0}^{u}(s-u) S(s) x d s \rho_{k} \sinh \left(\rho_{k} u\right)\right|_{0} ^{t_{1}}+\int_{0}^{t_{1}} \int_{0}^{u} S(s) x d s\left(\cosh \left(\rho_{k} u\right)\right)^{\prime} d u \\
& =\left.\int_{0}^{u} S(s) x d s \cosh \left(\rho_{k} u\right) d u\right|_{0} ^{t_{1}}-\int_{0}^{t_{1}} S(u) x \cosh \left(\rho_{k} u\right) d u
\end{align*}
$$

1000 An inverse problem
which implies

$$
\begin{equation*}
\mu_{k} \int_{0}^{t_{1}} \int_{0}^{u}(s-u) S(s) x d s \cosh \left(\rho_{k} u\right) d u=\int_{0}^{t_{1}} S(s) x d s-\int_{0}^{t_{1}} S(u) x \cosh \left(\rho_{k} u\right) d u \tag{1.15}
\end{equation*}
$$

Subtracting (1.13) from (1.15), we obtain (1.11). Moreover, from the formulas (1.11), (1.13), we obtain

$$
\begin{equation*}
A B x=-\left(\mu_{k} I-A\right) \int_{0}^{t_{1}} S(u) x \cosh \left(\rho_{k} u\right) d u \tag{1.16}
\end{equation*}
$$

Next we check the equality

$$
\begin{equation*}
\int_{0}^{t_{1}} S(u) x \cosh \left(\rho_{k} u\right) d u=\left(\mu_{k} I-A\right) \frac{1}{2} \int_{0}^{t_{1}} \int_{0}^{u}\left(t_{1}-s\right) S(s) x d s \cosh \left(\rho_{k} u\right) d u, \quad k=1,2, \ldots, \tag{1.17}
\end{equation*}
$$

for any $x \in E$. For $x \in D(A)$ we have

$$
\begin{align*}
& A \frac{1}{2} \int_{0}^{t_{1}} \int_{0}^{u}\left(t_{1}-s\right) S(s) x d s \cosh \left(\rho_{k} u\right) d u \\
& \quad=\frac{1}{2} \int_{0}^{t_{1}} \int_{0}^{u}\left(t_{1}-s\right) S^{\prime \prime}(s) x d s \cosh \left(\rho_{k} u\right) d u  \tag{1.18}\\
& \quad=\frac{1}{2} \int_{0}^{t_{1}}\left[\left.\left(t_{1}-s\right) C(s) x\right|_{0} ^{u}+\int_{0}^{u} S^{\prime}(s) x d s\right] \cosh \left(\rho_{k} u\right) d u
\end{align*}
$$

and therefore

$$
\begin{equation*}
A \frac{1}{2} \int_{0}^{t_{1}} \int_{0}^{u}\left(t_{1}-s\right) S(s) x d s \cosh \left(\rho_{k} u\right) d u=\frac{1}{2} \int_{0}^{t_{1}}\left[\left(t_{1}-u\right) C(u) x+S(u) x\right] \cosh \left(\rho_{k} u\right) d u \tag{1.19}
\end{equation*}
$$

Since $A$ is closed and $D(A)$ is dense in $E$, the last equality is valid for any $x \in E$. Next we have

$$
\begin{align*}
\mu_{k} & \frac{1}{2} \int_{0}^{t_{1}} \int_{0}^{u}\left(t_{1}-s\right) S(s) x d s \cosh \left(\rho_{k} u\right) d u \\
& =\frac{1}{2} \int_{0}^{t_{1}} \int_{0}^{u}\left(t_{1}-s\right) S(s) x d s\left(\cosh \left(\rho_{k} u\right)\right)^{\prime \prime} d u  \tag{1.20}\\
& =\frac{1}{2}\left(\left.\int_{0}^{u}\left(t_{1}-s\right) S(s) x \sinh \left(\rho_{k} u\right)\right|_{0} ^{t_{1}}-\int_{0}^{t_{1}}\left(t_{1}-u\right) S(u) x\left(\cosh \left(\rho_{k} u\right)\right)^{\prime} d u\right) \\
& =\frac{1}{2}\left[-\left.\left(t_{1}-u\right) S(u) x \cosh \left(\rho_{k} u\right)\right|_{0} ^{t_{1}}+\int_{0}^{t_{1}}\left(\left(t_{1}-u\right) C(u) x-S(u) x\right) \cosh \left(\rho_{k} u\right) d u\right]
\end{align*}
$$

which implies

$$
\begin{equation*}
\mu_{k} \frac{1}{2} \int_{0}^{t_{1}} \int_{0}^{u}\left(t_{1}-s\right) S(s) x d s \cosh \left(\rho_{k} u\right) d u=\frac{1}{2} \int_{0}^{t_{1}}\left(\left(t_{1}-u\right) C(u) x-S(u) x\right) \cosh \left(\rho_{k} u\right) d u . \tag{1.21}
\end{equation*}
$$

Subtracting (1.19) from (1.21), we obtain (1.17). Moreover, from the formulas (1.16), (1.17), we obtain

$$
\begin{equation*}
A B x=-\left(\mu_{k} I-A\right)^{2} \frac{1}{2} \int_{0}^{t_{1}} \int_{0}^{u}\left(t_{1}-s\right) S(s) x d s \cosh \left(\rho_{k} u\right) d u, \quad x \in E, k=1,2, \ldots \tag{1.22}
\end{equation*}
$$

Assume that the operator $B$ has the inverse $B^{-1}$ with $D\left(B^{-1}\right)=D(A)$. Let $\lambda_{0}$ be a regular point of the operator $A$. Then the operator $B_{0}=B\left(\lambda_{0} I-A\right)^{-1}$ is bounded. From the relations (1.11) we conclude that the characteristic numbers $\mu_{k}, k=1,2, \ldots$, are the regular points of the operator $A$. Moreover, by virtue of (1.11), (1.13), we obtain

$$
\begin{equation*}
R\left(\mu_{k} ; A\right) x=\int_{0}^{t_{1}} \cosh \rho_{k} u B_{0}\left(\lambda_{0} \int_{0}^{u}(s-u) S(s) x d s-S(u) x\right) d u . \tag{1.23}
\end{equation*}
$$

This means that

$$
\begin{equation*}
R\left(\mu_{k} ; A\right) x=\int_{0}^{t_{1}} \varphi(u) \cosh \left(\rho_{k} u\right) d u, \quad k=1,2, \ldots \tag{1.24}
\end{equation*}
$$

where

$$
\begin{equation*}
\varphi(u)=B_{0}\left(\lambda_{0} \int_{0}^{u}(s-u) S(s) x d s-S(u) x\right) \tag{1.25}
\end{equation*}
$$

is a continuous function. Consider the elements

$$
\begin{equation*}
z_{k}=\int_{0}^{t_{1}} \varphi(u) \cosh \left(\rho_{k} u\right) d u, \quad k=0, \pm 1, \pm 2, \ldots \tag{1.26}
\end{equation*}
$$

By the vector version of Fejér's theorem, there exists the limit

$$
\begin{equation*}
\lim _{N \rightarrow \infty} \frac{1}{N} \sum_{n=0}^{N-1} \sum_{k=-n}^{n} \int_{0}^{t_{1}} \varphi_{k}(u) e^{\rho_{k} u} d u . \tag{1.27}
\end{equation*}
$$

Using the relations

$$
\begin{equation*}
\frac{1}{N} \sum_{n=0}^{N-1} \sum_{k=-n}^{n} \int_{0}^{t_{1}} \varphi_{k}(u) e^{\rho_{k} u} d u=\frac{1}{N} \sum_{n=0}^{N-1} \sum_{k=-n}^{n} z_{k}=z_{0}+\frac{2}{N} \sum_{n=0}^{N-1} \sum_{k=-n}^{n} z_{k} \tag{1.28}
\end{equation*}
$$

and (1.24), we conclude that the series $\sum_{k=1}^{\infty} R\left(\mu_{k} ; A\right) x$ is Cesáro summable for any $x \in E$.

Next, by virtue of the relations (1.22) and (1.19), we obtain

$$
\begin{equation*}
A R^{2}\left(\mu_{k} ; A\right) x=\int_{0}^{t_{1}} \psi(u) \cosh \left(\rho_{k} u\right) d u, \quad x \in E, k=1,2, \ldots, \tag{1.29}
\end{equation*}
$$

where

$$
\begin{equation*}
\psi(u)=\frac{1}{2} B_{0}\left(-\lambda_{0} \int_{0}^{u}\left(t_{1}-s\right) S(s) x d s+\left(t_{1}-u\right) C(u) x+S(U) x\right) \cosh \left(\rho_{k} u\right) d u \tag{1.30}
\end{equation*}
$$

is a continuous function. From here in the same way as above we conclude that the series $\sum_{k=1}^{\infty} A R^{2}\left(\mu_{k} ; A\right) x$ is Cesáro summable for any $x \in E$.

Assume that every characteristic number $\mu_{k}, k=1,2, \ldots$, is a regular point of the operator $A$ and for any $x \in E$ the series $\sum_{k=1}^{\infty} R\left(\mu_{k}, A\right) x, \sum_{k=1}^{\infty} A R^{2}\left(\mu_{k}, A\right) x$ are Cesáro summable. Following the method of [1], define on the subspace $D(A)$ the operators $Q, P$ via the relations

$$
\begin{align*}
& Q y=2(C-1) \sum_{k=1}^{\infty} R\left(\mu_{k}, A\right) A y, \quad y \in D(A) \\
& P y=4(C-1) \sum_{k=1}^{\infty} A R^{2}\left(\mu_{k}, A\right) A y, \quad y \in D(A) \tag{1.31}
\end{align*}
$$

Define the operators $Q_{k}, P_{k}$ via the relations

$$
\begin{align*}
& Q_{k} x=\frac{1}{t_{1}} \int_{0}^{t_{1}} S(s) x \cosh \left(\rho_{k} s\right) d s, \quad k=0, \pm 1, \pm 2, \ldots, x \in E \\
& P_{k} x=\frac{1}{t_{1}} \int_{0}^{t_{1}}\left[\left(t_{1}-s\right) C(s) x+S(s) x\right] \cosh \left(\rho_{k} s\right) d s, \quad k=0, \pm 1, \pm 2, \ldots, x \in E \tag{1.32}
\end{align*}
$$

By virtue of (1.16) we obtain

$$
\begin{equation*}
\frac{1}{t_{1}} R\left(\mu_{k}, A\right) A B x=-Q_{k} x, \quad k=1,2, \ldots, x \in E \tag{1.33}
\end{equation*}
$$

and using (1.22) and (1.19) we get

$$
\begin{equation*}
\frac{1}{t_{1}} A R^{2}\left(\mu_{k}, A\right) A B x=-\frac{1}{2} P_{k} x, \quad k=1,2, \ldots, x \in E . \tag{1.34}
\end{equation*}
$$

By the vector version of Fejér's theorem, we have

$$
\begin{gather*}
(C-1) \sum_{k=-\infty}^{\infty} Q_{k} x=\frac{1}{2} S\left(t_{1}\right) x,  \tag{1.35}\\
(C-1) \sum_{k=-\infty}^{\infty} P_{k} x=\frac{1}{2}\left[S\left(t_{1}\right) x+t_{1} x\right] . \tag{1.36}
\end{gather*}
$$

Using the relations $Q_{0}=\left(1 / t_{1}\right) B$ and (1.33) we obtain

$$
\begin{align*}
(C-1) \sum_{k=-\infty}^{\infty} Q_{k} x & =Q_{0} x+2(C-1) \sum_{k=1}^{\infty} Q_{k} x \\
& =\frac{1}{t_{1}} B x-\frac{2}{t_{1}} \sum_{k=1}^{\infty} R\left(\mu_{k} ; A\right) A B x  \tag{1.37}\\
& =\frac{1}{t_{1}} B x-\frac{1}{t_{1}} Q B x
\end{align*}
$$

and by virtue of (1.35) we conclude that

$$
\begin{equation*}
\frac{1}{t_{1}} B x-\frac{1}{t_{1}} Q B x=\frac{1}{2} S\left(t_{1}\right) x . \tag{1.38}
\end{equation*}
$$

Next we have

$$
\begin{align*}
P_{0} x & =\frac{1}{t_{1}} B x+\frac{1}{t_{1}} \int_{0}^{t_{1}}\left(t_{1}-s\right) S^{\prime}(s) x d s  \tag{1.39}\\
& =\frac{1}{t_{1}} B x+\frac{1}{t_{1}}\left[\left.\left(t_{1}-s\right) S(s) x\right|_{0} ^{t_{1}}+\int_{0}^{t_{1}} S(s) x d s\right]=\frac{2}{t_{1}} B x
\end{align*}
$$

for $x \in D(A)$ and since the operators $P_{0}, B$ are bounded, we get $P_{0} x=\left(2 / t_{1}\right) B x$ for any $x \in E$. Thus by virtue of (1.34) we obtain

$$
\begin{align*}
(C-1) \sum_{k=-\infty}^{\infty} P_{k} x & =P_{0} x+2(C-1) \sum_{k=1}^{\infty} P_{k} x \\
& =\frac{2}{t_{1}} B x-\frac{4}{t_{1}} \sum_{k=1}^{\infty} A R^{2}\left(\mu_{k} ; A\right) A B x  \tag{1.40}\\
& =\frac{2}{t_{1}} B x-\frac{1}{t_{1}} P B x
\end{align*}
$$

and by virtue of (1.36) we conclude that

$$
\begin{equation*}
\frac{2}{t_{1}} B x-\frac{1}{t_{1}} P B x=\frac{1}{2} S\left(t_{1}\right) x+\frac{1}{2} t_{1} x . \tag{1.41}
\end{equation*}
$$

Subtracting (1.38) from (1.41) we obtain

$$
\begin{equation*}
\frac{1}{t_{1}} B x+\frac{1}{t_{1}} Q B x-\frac{1}{t_{1}} P B x=\frac{1}{2} t_{1} x \tag{1.42}
\end{equation*}
$$

which implies $S B x=x, x \in E$, with $S=\left(2 / t_{1}^{2}\right)(I+Q-P)$. The operator $S$ is defined on $D(A)$ and since $S$ and $B$ commute on $D(A)$, we conclude that $B S y=y, y \in D(A)$, and thus $S=B^{-1}$.

Theorem 1.2. For the problem (1.1)-(1.3) to be well-posed it is necessary, and in the case when $E$ is a Hilbert space is sufficient, that every characteristic number $\mu_{k}, k=1,2, \ldots$, be a regular point of the operator $A$ and $\sup _{k \geq 1}\left\|k R\left(\mu_{k}, A\right)\right\|<\infty$.

Proof. Assume that the problem (1.1)-(1.3) is well-posed. Then as was shown above every characteristic number $\mu_{k}, k=1,2, \ldots$, is a regular point of the operator $A$; moreover, the resolvent $R\left(\mu_{k} ; A\right)$ in these points satisfies the relations (1.23). From these relations, integrating by parts, we obtain

$$
\begin{equation*}
\rho_{k} R\left(\mu_{k} ; A\right) x=B_{0} \int_{0}^{t_{1}}\left[\lambda_{0} \int_{0}^{u} S(s) x d s+C(u) x\right] \sinh \left(\rho_{k} u\right) d u . \tag{1.43}
\end{equation*}
$$

From here using the estimates (see [3])

$$
\begin{equation*}
\|C(u)\| \leq M_{1}, \quad\|S(u)\| \leq M_{2}, \quad 0 \leq u \leq t_{1} \tag{1.44}
\end{equation*}
$$

we obtain $\sup _{k \geq 1}\left\|\rho_{k} R\left(\mu_{k}, A\right)\right\|<\infty$ which means $\sup _{k \geq 1}\left\|k R\left(\mu_{k}, A\right)\right\|<\infty$.
Assume that $E$ is a Hilbert space and every characteristic number $\mu_{k}, k=1,2, \ldots$, is a regular point of the operator $A$ and

$$
\begin{equation*}
\sup _{k \geq 1}\left\|k R\left(\mu_{k}, A\right)\right\|<\infty \tag{1.45}
\end{equation*}
$$

As was shown in [1], condition (1.45) implies that the sequences of the partial Cesáro sums

$$
\begin{equation*}
R_{N} x=\frac{1}{N} \sum_{n=1}^{N-1} \sum_{k=1}^{n} R\left(\mu_{k} ; A\right) x, \quad V_{N} x=\frac{1}{N} \sum_{n=1}^{N-1} \sum_{k=1}^{n} A R^{2}\left(\mu_{k} ; A\right) x \tag{1.46}
\end{equation*}
$$

are bounded for any $x \in E$. Hence in order to prove that the series $\sum_{k=1}^{\infty} R\left(\mu_{k} ; A\right) x$, $\sum_{k=1}^{\infty} A R^{2}\left(\mu_{k} ; A\right) x$ are Cesáro summable for any $x \in E$, it is enough to check this assertion for the elements from the dense subspace $D(A)$. Let $\lambda_{0}$ be a regular point of the operator $A$ with $\operatorname{Re} \lambda_{0}>0$. For every $z$ from $D(A)$ we have $z=R\left(\lambda_{0} ; A\right) y$ with some $y \in E$. Using the resolvent identity we obtain

$$
\begin{equation*}
R\left(\mu_{k} ; A\right) z=R\left(\mu_{k} ; A\right) R\left(\lambda_{0} ; A\right) y=\frac{1}{\mu_{k}-\lambda_{0}}\left(R\left(\lambda_{0} ; A\right)-R\left(\mu_{k} ; A\right)\right) y . \tag{1.47}
\end{equation*}
$$

By virtue of (1.45) we conclude that

$$
\begin{equation*}
\left\|R\left(\mu_{k} ; A\right) z\right\| \leq \frac{1}{\left|\mu_{k}-\lambda_{0}\right|}\left(\left\|R\left(\lambda_{0} ; A\right)\right\|+\left\|R\left(\mu_{k} ; A\right)\right\|\right)\|y\| \leq \frac{C_{1}}{\left|\mu_{k}-\lambda_{0}\right|}\|y\| \tag{1.48}
\end{equation*}
$$

with some constant $C_{1}$ not depending on $k$. Hence it follows that for any $z \in D(A)$ the series $\sum_{k=1}^{\infty} R\left(\mu_{k} ; A\right) z$ converges and therefore is Cesáro summable.

Next we have

$$
\begin{equation*}
A R^{2}\left(\mu_{k} ; A\right)=-R\left(\mu_{k} ; A\right)+\mu_{k} R^{2}\left(\mu_{k} ; A\right) \tag{1.49}
\end{equation*}
$$

and thus it remains to show that the series $\sum_{k=1}^{\infty} \mu_{k} R^{2}\left(\mu_{k} ; A\right) z$ is Cesáro summable for any $z \in D(A)$. Using the resolvent identity we get

$$
\begin{align*}
\mu_{k} R^{2}\left(\mu_{k} ; A\right) z & =\mu_{k} R^{2}\left(\mu_{k} ; A\right) R\left(\lambda_{0} ; A\right) y \\
& =\frac{1}{\mu_{k}-\lambda_{0}}\left(\frac{\mu_{k}}{\mu_{k}-\lambda_{0}}\left(R\left(\lambda_{0} ; A\right)-R\left(\mu_{k} ; A\right)\right)-\mu_{k} R^{2}\left(\mu_{k} ; A\right)\right) y . \tag{1.50}
\end{align*}
$$

Hence it follows that

$$
\begin{align*}
& \left\|\mu_{k} R^{2}\left(\mu_{k} ; A\right) z\right\| \\
& \quad \leq \frac{1}{\left|\mu_{k}-\lambda_{0}\right|}\left[\left|\frac{1}{\mu_{k}}\left(\mu_{k}-\lambda_{0}\right)\right|\left(\left\|R\left(\lambda_{0} ; A\right)\right\|+\left\|R\left(\mu_{k} ; A\right)\right\|\right)+\left\|\rho_{k} R\left(\mu_{k} ; A\right)\right\|^{2}\right]\|y\| . \tag{1.51}
\end{align*}
$$

By virtue of (1.45) we obtain

$$
\begin{equation*}
\left\|\mu_{k} R^{2}\left(\mu_{k} ; A\right) z\right\| \leq \frac{C_{2}}{\left|\mu_{k}-\lambda_{0}\right|}\|y\| \tag{1.52}
\end{equation*}
$$

with some constant $C_{2}$ not depending on $k$. Hence it follows that for any $z \in D(A)$ the series $\sum_{k=1}^{\infty} \mu_{k} R^{2}\left(\mu_{k} ; A\right) z$ converges and therefore is Cesáro summable.

## Acknowledgment

The author is grateful to P. E. Sobolevskii and I. V. Tikhonov for the attention to this work.

## References

[1] I. Ciorănescu and C. Lizama, Some applications of Fejér's theorem to operator cosine functions in Banach spaces, Proc. Amer. Math. Soc. 125 (1997), no. 8, 2353-2362.
[2] Y. S. Èǐdel'man, An inverse problem for an evolution equation, Mat. Zametki 49 (1991), no. 5, 135-141, translated in Math. Notes 49 (1991), no. 5-6, 535-540.
[3] H. O. Fattorini, Second Order Linear Differential Equations in Banach Spaces, North-Holland Mathematics Studies, vol. 108, North-Holland Publishing, Amsterdam, 1985.
[4] D. G. Orlovsky, An inverse problem for an equation of hyperbolic type in a Hilbert space, Differentsial'nye Uravneniya 27 (1991), no. 10, 1771-1778, translated in Differ. Equ. 27 (1992), no. 10, 1255-1260.
[5] A. I. Prilepko, D. G. Orlovsky, and I. A. Vasin, Methods for Solving Inverse Problems in Mathematical Physics, Monographs and Textbooks in Pure and Applied Mathematics, vol. 231, Marcel Dekker, New York, 2000.
Y. Eidelman: School of Mathematical Sciences, Raymond and Beverly Sackler Faculty of Exact Sciences, Tel Aviv University, Ramat Aviv 69978, Israel

E-mail address: eideyu@post.tau.ac.il

